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COURSE CODE : PFN1203
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COURSE - : FINANCIAL MANAGEMENT

INSTRUCTIONS TO CANDIDATES :

1.

2.

This question paper consists of FOUR (4) questions.
Answer ALL questions in the Answer Booklet provided.

Please check to make sure that this examination pack consists of :
i. The Question Paper

ii. An Answer Booklet

iii. PVIF and PVIFA tables

iv. The formulas list

Do not bring any material into the examination hall unless permission is given by the
invigilator. '

Please write your answer using a ball-point pen.

MYKAD NO
ID. NO.
LECTURER
SECTION

DO NOT OPEN THIS QUESTION PAPER UNTIL YOU ARE TOLD TO DO SO

The question paper consists of 5 printed pages

2018/B/PFN1203



CONFIDENTIAL

2. (35 points)
a. List THREE(3) advantages of payback period. (3 points)

b. Delicious Sdn Bhd is evaluating 3 independent projects. The initial outlay for
each projects is RM2,000,000. The firm required rate of return is 20%. The cash
flows of the projects are as follows:

Year 1 2 3 4 5
RM RM RM RM RM
Project Apollo 700,000 650,000 500,000 500,000 400,000
Project K2 500,000 500,000 500,000 500,000 500,000
Project Telaga 1,200,000 750,000 600,000 500,000 500,000
Table 2
Required
i. Calculate:

a. Payback period for each project (5 points)

b. Net present value (NPV) for each project (16 points)

c. Internal rate of return (IRR) for Project K2 only (5 points)
d. Profitability index for Project Apollo (3 points)

ii. Which project should be accepted by Delicious Sdn Bhd? Give your reason.
(3 points)
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4. (15 points)
Nya In Son Berhad statement of comprehension income are as follows.

Required
a.

b.

2015
Sales RM450,000
Variable cost RM360,000
Contribution margin RM90,000
Fixed cost RM10,000
Operating income RM80,000
Interest RM13,000
EBT RM67,000
Tax (20%) RM13,400
Net income RM53,600

Table 3

Degree of operating leverage (DOL) for both years. (2 points)
Degree of financial leverage (DFL) for both years. (3 points)
iii. Degree of combine leverage (DCL) for both years. (2 points)

CONFIDENTIAL

Construct an income statement for 2016, if sales increase by 40%. (8 points)
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FORMULA LISTS
E(=2(pxr)
SD = /5 (r-i)
Pp = Initial Outlay/Cash flow
NPV = Total PV — Initial investment
IRR =a% + [(a-b)/(a—c)] X (c%-a %)
PI = 1+ (NPV / Initial investment)

Kd = CP+ {PV — ( Mp ~cost)/n}

(PV+ Mp -cost)/2

Kps = D/P- cost

Ke=D1/P+g

Kne = D1/NP +g

WACC = (Kd x (1—1) x Wd) + (Ke~x We) + (KPs x WPs)
DOL = Contribution Margin / EBIT

DFL = EBIT / (EBIT — interest)

DCL = DOL x DFL

APPENDIX 2
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SHORT ANSWER

1. (25 points)
a. Ali considering investing in two projects which will cost RM10,000. The

investment has the following possible returns:

Probability Project Alamanda | Project Abkhari
0.30 RM500 RM200
0.35 RM200 RM100
.35 RM400 RM300

Table 1

Required

i. For both project, calculate :
a. Expected return in (RM). (7 points)
b. Standard deviation in (RM). (11 points)
c. Coefficient variation. (2 points)

ii. Which project should Ali's choose and why? (2 points)

b. XY Berhad has a beta of 0.10. If the expected market return is 30% and the risk
free rate is 7%, calculate the required rate of return of XY Berhad. (3 points)
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3. (25 points)

CONFIDENTIAL

Puri Pujangga Bhd has been raising capital invest a total of RM60 million in capital
projects next year. The company has interested to invest in two project as below:

Project Rate of return
Impian Jaya 18%
Mutiara Jaya 20%

The company's current capital structure which is considered optimal is as follows:

Debt 25%
Preference shares 15%
Equity 60%

i The cost before tax (Kd) for the bond is 12%. The corporate tax rate is 28%.
i  12% Preference shares with a par value of RM100.The floatation cost incurred

was RM5.

i The ordinary shares are selling at RM30 per share.If new shares are to be
issued, the floatation cost is calculated to be 10% of the market value.Based on
current trend,ordinary shares dividends are expected to grow at a constant rate
of 8% per annum for the foreseeable future. Last year, the dividend paid out

were RM5.00 per share

In raising the needed funds,the firm expects to have retained earnings of RM20
million available for capital expenditure next year.

Required

a. Calculate :
i. Debt after tax (1 point)
ii. Preference shares (2 points)
ii. Internal equity (2 points)
iv. External equity (3 points)

b. Determine the maximum capital expenditure that can be carried out by Puri

Pujangga Sdn Bhd if only retained earnings are used. (2 points)

c.  Calculate the weighted cost of capital (WACC) for the company if using internal

equity. (6 points)

d. Calculate the weighted cost of capital (WACC) for the company if using

external equity.(6 points)

e. By comparing rate of return and weighted average cost of capital (WACC) of
internal equity, which project should the company invest and why? (3 points)

4

2018/B/PFN1203



